



Nome: _____

Data: _____ Punteggio: _____

$$\left(3 - \frac{1}{3}\right)^2 - \frac{1}{3} - 2^2 + \frac{3}{2} =$$

$$\left(\frac{1}{4} - \frac{1}{6}\right)^2 - \frac{1}{2}\left(\frac{1}{3} - \frac{3}{4}\right) =$$

$$\left(\frac{1}{6} - \frac{1}{2}\right)^2 + \frac{1}{3}\left(\frac{1}{2} - \left(\frac{1}{5}\right)^2\right) =$$

$$\left(4 - \frac{1}{2}\right)^2 + \frac{3}{5} + \frac{3}{2} - 3^2 =$$

$$\left(\frac{1}{3} + \left(\frac{2}{5}\right)^2\right) \times \frac{1}{2} - \left(\frac{1}{3} + \frac{1}{2}\right)^2 =$$

$$\left(3 + \frac{1}{2}\right)^2 + \frac{1}{2} \times 3^2 - \frac{1}{2} =$$

$$\left(\frac{2}{5} - \left(\frac{1}{5}\right)^2\right) \times \frac{3}{2} + \left(\frac{2}{5} - \frac{1}{3}\right)^2 =$$

$$\left(\frac{1}{6} - \frac{1}{3}\right)^2 + \frac{1}{2}\left(\frac{3}{5} - \left(\frac{2}{5}\right)^2\right) =$$

$$\left(\frac{2}{3} - \frac{2}{5}\right)^2 - \frac{1}{3}\left(\frac{1}{5} - \left(\frac{1}{5}\right)^2\right) =$$

$$\left(\frac{3}{2} - \left(\frac{3}{5}\right)^2\right) \times \frac{1}{6} + \left(\frac{3}{2} + \frac{1}{4}\right)^2 =$$



Nome: _____

Data: _____ Punteggio: _____

$$(3 - \frac{1}{3})^2 - \frac{1}{3} - 2^2 + \frac{3}{2} = \frac{77}{18} = 4\frac{5}{18}$$

$$(\frac{1}{4} - \frac{1}{6})^2 - \frac{1}{2}(\frac{1}{3} - \frac{3}{4}) = \frac{31}{144}$$

$$(\frac{1}{6} - \frac{1}{2})^2 + \frac{1}{3}(\frac{1}{2} - (\frac{1}{5})^2) = \frac{119}{450}$$

$$(4 - \frac{1}{2})^2 + \frac{3}{5} + \frac{3}{2} - 3^2 = \frac{107}{20} = 5\frac{7}{20}$$

$$(\frac{1}{3} + (\frac{2}{5})^2) \times \frac{1}{2} - (\frac{1}{3} + \frac{1}{2})^2 = (-\frac{403}{900})$$

$$(3 + \frac{1}{2})^2 + \frac{1}{2} \times 3^2 - \frac{1}{2} = \frac{65}{4} = 16\frac{1}{4}$$

$$(\frac{2}{5} - (\frac{1}{5})^2) \times \frac{3}{2} + (\frac{2}{5} - \frac{1}{3})^2 = \frac{49}{90}$$

$$(\frac{1}{6} - \frac{1}{3})^2 + \frac{1}{2}(\frac{3}{5} - (\frac{2}{5})^2) = \frac{223}{900}$$

$$(\frac{2}{3} - \frac{2}{5})^2 - \frac{1}{3}(\frac{1}{5} - (\frac{1}{5})^2) = \frac{4}{225}$$

$$(\frac{3}{2} - (\frac{3}{5})^2) \times \frac{1}{6} + (\frac{3}{2} + \frac{1}{4})^2 = \frac{1301}{400} = 3\frac{101}{400}$$